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  (1) -I      . 
  (2) -I     . 
  (3) -II  . 5  . 

 

-I 

1. (A)          . 10 

 (B)         10 

       
        5 , ` 10  ..  
     2,500  
      15,000 ,  ` 1,65,000 

                
` 8   . 

            ? 

 

2. (A)     ?     . 10 

 (B)      2020       10 

   (`)  (`)  (`)  (`) 

  7,000 8,000 5,000 20,000 

   2,000 2,400 2,000 6,400 

  3,200 2,800 3,000 9,000 

  6,000 6,750 5,250 18,000 

  4,000 3,000 4,000 11,000 

  4,500 5,000 4,000 13,500 
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  2021            

  (1)    8%  . 

  (2)  15%  . 

  (3)      25%  . 

  (4)    ` 4,800 ,     3 : 1 : 2  
 . 

  2021       . 

 

3.  .        20 

  
 

(`) 

  (` 10 , 2 .) 20 

  (  ` 2 , 2 ) 04 

   (  ` 2 , 2 ) 04 

   ( ` 4 , 2 ) 08 

   36 

   40 

     10,000  

       10,000  

    

 (`) 

  : (  ` 9.60 ) 1,58,400 

   (  ` 1.60 ) 28,800 

   32,400 

   76,000 

    ( ` 42) 3,36,000 

  -             
    . 
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4.  2019  2020         20 

 
2019 

(`) 

2020 

(`) 

   6,00,000 7,70,000 

  3,00,000 4,50,000 

     1,50,000 1,60,000 

    1,00,000 1,30,000 

 1,00,000 1,40,000 

  2019  2020   20%    .     

  10%  . 2020   10%   . 

  2020        . 

 

-II 

5.      ( ) 10 

 (1)        ? 

  (a)   (b)   

  (c)    (d)   

 (2)       – 

  (a)   (b)    

  (c)    (d)    

 (3)   = ________. 

  (a)   –    (b)   –   

  (c)   –   (d)    
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 (4)         

  (a)    (b)    

  (c)    (d)    

 (5)   ( )    . 

  (a)   (b)   

  (c)   (d)    

 (6) 60%     ` 40,000   80%             

` 50,000 ,          

  (a) ` 50,000 (b) ` 10,000 

  (c) ` 40,000 (d)    

 (7)        ________   . 

  (a)    (b)    

   (c)    (d)    

 (8)        ? 

  (a)    (b)    

  (c)    (d)    

 (9) C < (1-P)L   L     

  (a)   (b)   

  (c)   (d)    

 (10)  (CUSUM)   ________   . 

   (a)    (b)    

  (c)    (d)    

__________  
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504-EA/EE : Management Accounting - I 
(Old and New) 

 
Time : 2 Hours]  [Max. Marks : 50 

 

Instructions : (1) All question in Section-I carry equal marks. 

   (2) Attempt any two questions in Section-I. 

   (3) Question No. 5 in Section-II is compulsory 

 

SECTION-I 
 

1. (A) Explain the difference between Management Accounting and Cost Accounting. 10 

 (B) Calculate and explain operating variances from the details given below : 10 

  Standard cost of Material : 

    per unit of Finished product : 5 kg., at ` 10 per kg. 

  Actual production : 2,500 units. 

  Actual Material cost : 15,000 kg. at the total cost of ` 1,65,000 

    Changes in the government policy in regard to import-export resulted in the 
possible purchase of ` 8 per kg.  

  What would be the situation if Traditional variance Analysis is made applicable ? 

 

2. (A) Define Budgetary control. Discuss the advantages and limitation of Budgetary 
Control.  10 

 (B) The data regarding selling expenses of a company for the year 2020 are as under : 10 

Particular Rajkot (`) Surat (`) Vadodara (`) Total (`) 

Salesmen's salary 7,000 8,000 5,000 20,000 

Rent and rates 2,000 2,400 2,000 6,400 

Advertisement expenses 3,200 2,800 3,000 9,000 

Warehouse expenses 6,000 6,750 5,250 18,000 

Commission on sale 4,000 3,000 4,000 11,000 

Selling expenses 4,500 5,000 4,000 13,500 
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  During the year 2021 budget period, the following changes are to be considered : 

  (1) Sales Commission is to be increased by 8%. 

  (2) Rent will be increase by 15%. 

  (3) In Rajkot and Vadodara advertisement expenses will increase by 25% . 

  (4) Salesmen’s total salary will increase by ` 4,800, which would be in all three 

cities in proportion of 3 : 1 : 2 respectively. 

  Prepare the selling expenses budget for the year 2021. 

 

3. Following information is obtained from the cost department of Nisha Ltd. : 20 

Standard cost card 
Per unit 

(`) 

Material Cost (2 kg. at ` 10 per unit) 20 

Direct Labour Wages (Hours 2, at ` 2 per hour) 04 

Variable overheads (Hours 2, at ` 2 per hour) 04 

Fixed overheads (Hours 2, at ` 4 per hour) 08 

Total standard cost 36 

Selling price per unit 40 

 Normal production capacity 10,000 units. 

 Budgeted production and sales 10,000 units 

 Actual data : 

 (`) 

Materials consumed : (at ` 9.60 per kg.) 1,58,400 

Direct Wages : (at ` 1.60 per hour) 28,800 

Variable overhead  32,400 

Fixed overheads  76,000 

Actual production and sales (at ` 42 per unit) 3,36,000 

 You are required to compute different variances and reconcile the budgeted profit with 

actual profit. 
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4. The profit of 2019 and 2020 are as given together with expenses. 20 

Particulars 
2019 

(`) 

2020 

(`) 

Direct material consumed  6,00,000 7,70,000 

Direct wages  3,00,000 4,50,000 

Overheads : Fixed  1,50,000 1,60,000 

  Variable  1,00,000 1,30,000 

Profit  1,00,000 1,40,000 

 Wage rate was 20% higher in 2020 than in 2019. Similarly, material price was higher 

by 10%. Sales price were increase by 10% in 2020. 

 Analyse the causes of increase in profit in 2020. 

 

SECTION-II 

5. Choose the correct option : (Any five) 10 

 (1) Which technique (method) is not of Management Accounting ? 

  (a) Standard Costing (b) Marginal Costing  

  (c) Decision Accounting (d) Service Accounting 

 (2) Financial accounting concerned with ________. 

  (a) Future (b) Technique of cost control  

  (c) External financial reporting (d) None of these 

 (3) Planning Variance = ________. 

  (a) Original Standards – Revised Standards 

  (b) Revised Standards – Actual Standards 

  (c) Original Standards – Actual Standards 

  (d) None of these 

 (4) Budgeted sales units are normally determined by – 

  (a) The account department (b) The engineering department 

  (c) The personal department (d) The Marketing department 
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 (5) Master Budget is known as ________. 

  (a) Cash Budget (b) Summary budget 

  (c) Sales Budget (d) None of these 

 (6) At 60% capacity factory overheads are ` 40,000 and 80% capacity factory 

overheads are ` 50,000. Amount of fixed factory overheads included in the above 

amount would be ________. 

  (a) ` 50,000 (b) ` 10,000 

  (c) ` 40,000 (d) None of these 

 (7) The difference between hours paid and hours worked is known as ________. 

  (a) Ideal time Variance (b) Labour Rate variance 

   (c) Labour Efficiency Variance (d) None of these 

 (8) Which of the following is not a Cost Variance Investigation Model ? 

  (a) Profit Volume Model (b) Control Chart Model 

  (c) Materiality Signification Model (d) None of these 

 (9) In the formula C < (1-P)L, L denote for 

  (a) Net Benefit (b) Cost of Investigation 

  (c) Net Loss (d) None of these 

 (10) CUSUM chart is used for – 

   (a) Statistical Signification Model (b) Control Chart Model 

  (c) Materiality Signification Model (d) None of these 

__________ 


